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GENERAL INSTRUCTIONS

1.  All questions are compulsory. Each question carries 1 mark.

No cell phones, calculators, books, slide-rules, notebooks or written notes, etc. will
be allowed inside the examination hall.

3. You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions, you will be
disqualified.

4. Any candidate found copying or receiving or giving assistance in the examination
will be disqualified.

5. The Question Paper and the OMR Response Sheet (Answer Sheet) would be
supplied to you by the Invigilators. After the examination is over, you should hand
over the OMR Response Sheet to the Invigilator before leaving the examination
hall. Any candidate who does not return the OMR Response Sheet will be
disqualified and the University may take further action against him/her.

6. All rough work is to be done on the question paper itself and not on any other
paper. Scrap paper is not permitted. For arriving at answers you may work in the
margins, make some markings or underline in the test booklet itself.

7. The University reserves the right to cancel the result of any candidate who
impersonates or uses/adopts other malpractices or uses any unfair means. The
University may also follow a procedure to verify the validity of scores of all
examinees uniformly. If there is substantial indication that your performance is not
genuine, the University may cancel your result.
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How to fill up the information on the OMR Response Sheet

(Examination Answer Sheet)

Write your complete Enrolment No. in 9 digits. This should correspond to the
enrolment number indicated by you on the OMR Response Sheet. Also write your
correct name, address with pin code in the space provided. Put your signatures on
the OMR Response Sheet with date. Ensure that the Invigilator in your
examination hall also puts his signatures with date on the OMR Response Sheet at
the space provided.

On the OMR Response Sheet student’s particulars are to be filled in by blue/black
ball pen also. Use blue/black ball pen for writing the Enrolment No. and
Examination Centre Code as well as for blackening the circle bearing the correct
answer number against the serial number of the question.

Do not make any stray remarks on this sheet.

Write correct information in numerical digits in Enrolment No. and Examination
Centre Code Columns. The corresponding circle should be dark enough and should
be filled in completely.

Each question is followed by four probable answers which are numbered (1), (2), (3)
and (4). You should select and show only one answer to each question considered by
you as the most appropriate or the correct answer. Select the most appropriate
answer. Then by using blue/black ball pen, blacken the circle bearing the correct
answer number against the serial number of the question. If you find that answer
to any question is none of the four alternatives given under the question, you
should darken the circle with ‘0.

No credit will be given if more than one answer is given for one question. Therefore,
you should select the most appropriate answer.

You should not spend too much time on one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering
all the questions, you may go back to the unanswered question.

There is no negative marking for wrong answers.
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1. Cash, goods or assets invested by the owner in the business is called :

(1) Capital (2) Profit
(3) Assets (4) Liabilities

2.  Goods taken by the owner from the business for his personal use is called :

(1) Loss (2) Sale

(3) Drawings (4) Purchases

3.  Which of the following transactions is NOT entered in the accounts ?

(1) Purchase of machinery on credit
(2) Credit sales
(3) Withdrawals by the owner

(4) Strike by the employees

4.  Which of the following is a financial transaction of the business ?

(1) Credit purchases (2) Purchase of car by the owner

(3) Dismissal of an employee (4) Both (1) and (2)

5.  What type of an asset is goodwill ?

(1) Tangible asset (2) Current asset

(3) Intangible asset (4) Fictitious asset

6. According to Dual concept :
(1) Assets = Liabilities + Capital
(2) Assets = Liabilities — Capital
(3) Capital = Assets + Liabilities

(4) Liabilities = Assets + Capital
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7.  Which of the following is NOT a long-term liability ?

(1) Creditors (2) Term loan

(3) Capital (4) Debentures

8. The same accounting method which should be used from one accounting period

to the next is known as :

(1) Materiality concept (2) Revenue recognition concept

(3) Consistency concept (4) Conservatism concept

9. A person to whom money is owned by the business is called :

(1) Debtor (2) Borrower
(3) Shareholder (4) Creditor

10. Drawings by the owner are deducted from :

(1) Sales (2) Capital
(3) Purchases (4) Net profit

11. The basic objectives of financial accounting is :

(1) Rewriting and classifying the transactions

(2) Recording and interpreting the transactions

(3) Analysing and interpreting the transactions

(4) Identifying, classifying, recording, summarizing and communicating the

transactions

12. In a transaction when cash is NOT paid or received immediately is called :

(1) Credit transaction (2) Non-monetary transaction

(3) Cash transaction (4) An event
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13.

14.

15.

16.

17.

18.

Ledger posting is done on the basis of :

(1) 'Trial Balance (2) Journal

(3) Trading Account (4) Balance Sheet

Final accounts are prepared on the basis of :

(1) Journal (2) Ledger

(3) Trial Balance (4) Three column cash book

Wages paid to Kumar should be debited to :

(1) Wages account (2) Kumar’s account

(3) Cash account (4) Expense account

Sales journal is used for recording ........... .

(1) Cash sales of goods only
(2) Credit sales of goods only
(3) Cash and credit sales of goods

(4) Sales of assets

Cash book contains :
(1) All receipts only
(2) All payments only

(3) All receipts and payments of cash
(4) All credit sales

When an entry is made on both the sides of cash book, it is called :

(1) Opening entry (2) Closing entry

(3) Compound entry (4) Contra-entry
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19.

20.

21.

22.

23.

24.

Which of the following transactions will NOT be recorded in cash book ?

(1) Credit purchase of goods worth ¥ 4,000
(2) Purchase of goods worth ¥ 5,000
(3) Cash received from Amar % 8,000

(4) Sale of goods to Ram for ¥ 2,000

When there is unfavourable balance of cash, it is considered as :

(1) An asset (2) An expense

(3) A liability (4) A profit

Cash deposited in the bank will be recorded in the cash book on :

(1) Debit side (2) Credit side

(3) Will not be recorded (4) Both debit and credit side

A system of advancing a fixed amount to a petty cashier periodically is called :

(1) Cash system (2) Accrual system

(3) Imprest system (4) Consistency system

Which of the following is a subsidiary journal/book ?

(1) Cash book (2) Trading Account

(3) Profit & Loss Account (4) Balance Sheet

A bank reconciliation statement is prepared to compare a bank statement/pass

book with :
(1) Profit & Loss Account (2) Cash book
(3) Balance Sheet (4) Trading Account
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25. Unfavourable bank balance means :

(1) Favourable balance in cash book
(2) Credit balance in the cash book
(3) Debit balance in the passbook

(4) Credit balance in the sales book

26. If there is favourable balance in the cash book, it means :

(1) Credit balance (2) Debit balance

(3) Bank overdraft (4) Adjusted balance

27. Sale of goods to Aakash for ¥ 10,000 was recorded as ¥ 1,000. This error is

called :
(1) Error of commission (2) Error of omission
(3) Compensating error (4) Error of principle

28. Which of the following errors are NOT disclosed by Trial Balance ?

(1) Omission of posting in one account
(2) Omission of an account from Trial Balance
(3) Wrong totalling of subsidiary books

(4) Error of principle

29. A Trial Balance is:

(1) A statement (2) A book of original entry

(3) An account (4) Journal proper
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30.

31.

32.

33.

34.

In which of the following entries for rectification of errors are passed ?
(1) Trial balance (2) Journal proper
(3) Cash book (4) Purchase book

Which of the following transactions usually appear in the cashbook but not in

the passbook ?
(1) Interest allowed by the bank
(2) Interest on overdraft

(3) Cheques issued but not yet presented

(4) Discounted cheques

When a customer returns goods to the business a statement is sent to him, it is
called :

(1) Debit note (2) Credit note

(3) Invoice (4) Voucher

Statement 1 : Promissory note is written by the debtor.
Statement 2 : There is no need for acceptance of a promissory note.

Read the above statements and answer which of the following is correct ?

(1) Statement 1 is right and statement 2 is wrong.
(2) Statement 1 is wrong and statement 2 is right.
(3) Both statements are wrong.

(4) Both statements are right.

A clerical error committed while recording or posting of a transaction is called :

(1) Error of commission (2) Error of principle

(3) Compensating error (4) Error of complete omission
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35.

36.

37.

38.

39.

Sales to Mohit recorded in the Purchase Journal would affect :

(1) Sales account only
(2) Purchases account only
(3) Sales account and Mohit’s account

(4) Sales account, Purchases account and Mohit’s account

Cashinhandisa:

(1) Current asset (2) Fixed asset

(3) Wasting asset (4) Fictitious asset

Expenses such as wages, salaries and rent are examples of :

(1) Revenue expenditure (2) Revenue loss

(3) Capital expenditure (4) Deferred revenue expenditure

Carriage outwards is shown in :

(1) Trading Account
(2) Manufacturing Account
(3) Profit & Loss Account

(4) Both Trading and Profit & Loss Account

Trading Account is prepared to find out :

(1) Gross profit / Gross loss (2) Net profit / Net loss

(3) Cost of production (4) Financial position of business

D-3247/PCO-01 (9)



40. Sale proceeds of fixed assets is an example of :

(1) Capital receipt (2) Revenue receipt

(3) Capital profit (4) Revenue profit
41. Opening stock ¥ 18,000

Closing stock T 25,000

Direct expenses 312,000

Purchases % 1,20,000

Calculate the cost of goods sold. It will be :

(1) % 1,50,000 (2) ¥1,25,000

(3) 1,37,000 (4) 1,17,000

42. Stock is valued at :
(1) Cost price
(2) Market price
(3) Cost price or market price whichever is low

(4) Cost price or market price whichever is higher

43. If closing stock is not given in the Trial Balance and is mentioned as an
adjustment item, so while preparing final accounts it will be :
(1) shown in Trading Account only.
(2) shown in Balance Sheet only.
(3) shown first in Trading Account and then in Balance Sheet.

(4) not shown in final accounts.
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44. Provision for discount on creditors is made by :

(1) Crediting Profit & Loss Account

(2) Debiting Profit & Loss Account

(3) Crediting provision for discount on credits or account

(4) Debiting trading account

45. Income received in advance in shown in Balance Sheet as :

(1) A current asset (2) A current liability

(3) A fictitious asset (4) A long-term liability

46. While making adjustment entry for prepaid insurance we debit prepaid

insurance account and credit to :

(1) Profit & Loss Account (2) Trading Account

(3) Cash Account (4) Insurance Account

47. Ifinterest on drawing is given in the Trial Balance, it is :

(1) Credited to Profit & Loss Account.

(2) Debited to Profit & Loss Account.

(3) Deducted from capital in the Balance Sheet.

(4) Added to the capital in the Balance Sheet.
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48.

49.

50.

If gross profit is ¥ 60,000 and indirect expenses ¥ 38,000, calculate the
manager’s commission. If he is entitled to 10% on net profit before charging

such commission. His commission will be :
(1) 2,000 (2) 2,200

(3) 6,000 (4) 6,200

An amount of ¥ 1,000 paid by Puran has been wrongly credited to the account
of Puranjeet. What will be the rectifying entry ?

(1) Puranjeet account will be debited with ¥ 1,000 and Puran account will be
credited with T 1,000.

(2) Puranjeet account will be debited with ¥ 1,000 and cash account will be
credited with T 1,000.

(3) Puranjeet account will be debited with ¥ 1,000 and Puran account will be

credited with T 2,000.

(4) Cash account will be debited with ¥ 1,000 and Puranjeet account will be
credited with T 2,000.

A credit purchase of goods from Chetan amounting to ¥ 2,000 has been wrongly
passed through sales book. Because of this error which of the following

accounts will be affected ?

(1) Chetan’s account, Purchase account and Sales account
(2) Purchase account and Sales account only
(3) Cash account, Chetan’s account and Sales account

(4) Cash account and Sales account only
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(3) NI Yd A1 oSIR Hodt 394 H it ot A 3 36 W

(4) N o A1 9K 9o 376 9 s ot s1fees 91 39 ™

Ffg Af~<H =i 1 qUeie | 7@l @ 71 § 3R U 9HrieH 7E & &9 | fe@mn T ¥,
qr Af<H Bd s 99T I8

(1) <hdd IR @d | e s |
(2) T doiE 3§ fegaman s

(8) TEH IR @id § TR R sty viie § fewmn S|
(4) Sf-<\ @l § 98 few@mn s |

AERI W B & Torg e fan S e

(1) <Y-BI Ed k! hiee Hleh

(2) MY-BI ©Id i Sfae b

(3) <IENI W e & faIw W™ @ird ol shfge &teh

(4) SIUR @4 1 efae wi

SN ST 1 Seid ¥ite | feeman S &
(1) ek =1 IREHd & €9 (2) Teh 9] Il & &9 H
(8) U AU & U@ S ®IH  (4) THh SHehleld Fal & &9 |
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46.

47.

48.

49.

50.

qeied Sl hi HESH gfafte e o fau 80 geed S @ i Sfde wid § iR hiee
FAE :

(1) -2 @rd =l (2) AR Td

(8) Thg B (4) S @I

Ife AT W =S derue § fed T R, 99 59

(1) <m9-=If7 B § sfee e st (2)  arv-=ifa ' § Sfee foran s |

(3) S M HYST G oemI S| (4) ocid e | It § S fohan S|

Jfg ahed 19 T 60,000 & TAT 3T9&T =29 T 38,000 &, A HASK 1 HHITH 14 Hifed afg
SR 1 e a1 W 10% HHISE, FHHTH 52 | 9 a1 ST 1 35! HHI9E B0

(1) 2,000 (2) 2,200
(3) 6,000 (4) 6,200

I B/ % 1,000 i TRT 1 YaH Terd! § TASH & @A H shiee T feam 7| wived
gfafte s grft ?

(1) gTASHa &l @ % 1,000 ¥ Sfse BAM SR T &1 @l € 1,000 & shfee 2|
(2) IS 1 @I 2 1,000 § Sfee 2 AR e @l 3 1,000 & shiee gm|
(3) YTASIHA &l @Ml % 1,000 ¥ Sfee BT SR T &1 @l 2,000 & shfee B |

(4) ks @@ % 1,000 | Sfae FRM SR GASHA &l @Il 2 2,000 & shiee BAm|

I ¥ T 2,000 & A o IUR A Hl Tordt o fosha &t § forw foan w1 9 owgfs &

o~

%o fefafed 3 9 A-9 @rd g49ifad 8 ?

(1) =d4 &1 @dl, Ha Srd ad fag @

g1 Sk STl a1 fasha @

3

(2)
(3)
(4)

chs Yldl, < oh1 Wl a1 fasha @

~v

g Ueh g @Il a9 T @

3
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Rough Work
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